[image: image1.png]: I study skllls online





A   Choose the correct verbs to complete these short organising (thesis)

     statements.

1. Firstly, I ________ key terms.

a) will define

b) define

2. This essay ________ three sectors of the economy.


a) is examining


b) will examine

3. After looking at the problems, our report ________ some possible solutions.


a) will turn to


b) is going to turn to

4. This essay ________ this as follows; by first defining terms, then by discussing the people involved and finally by looking at a case study.


a) does


b) will do

5. This report ________  the whole debate, from the 1960s through to the present day.


a) is going to analyse


b) will be analysing

6. This report ________  the five main aspects of this process.


a) will be looked at

b) will be looking at
7. The five main aspects of this process ________  in this report.


a) will be looking at


b) will be looked at

8. This question ________ in two different ways.


a) will be answered

b) will be answering
9. This essay ________  this question in two different ways.


a) will be answered


b) will be answering

10. Finally, I  ________ the steps that have been taken recently.


a) will detail

b) will be detailed
11. Finally, the steps that have been taken recently ________.


a) will be detailed

b) will detail

12. This issue  ________  in terms of its impact on both businesses and consumers.


a) will be investigated


b) will be investigating


c) will investigate

13. After discussing the cost of these changes, this essay ________ the social impact.

a) will be discussed

b) will discuss
14. Three industries ________, those of mining, fishing and shipbuilding.

a) will be using

b) will be used
B   Use ‘will’ and the correct form of the verb to complete these short organising

     statements.  Sometimes, there are two possible answers.

e.g. 
The first section of this report ___________ three main causes. (look at)

The first section of this report will look at/will be looking at three main causes.

1. In answering this question, I ___________  a range of factors. (suggest)

2. After analysing costs, this report ___________  by suggesting savings. (continue)

3. My essay ___________ objections to this, first with reference to the problems in France, then to problems in Britain. (detail)

4. A range of institutions ___________, namely banks, parliament and the press. (look at) 
5. Two problems ___________ , those of staff costs and modernisation.(examine)
6. This essay ___________ two problems, those of staff costs and modernisation.(examine)

7. Next, I ___________ the social factors.(discuss)

8. Next, the social factors ___________. (discuss)

9. Hence, criticisms of this policy  ___________ . (consider)

10. Hence, I ___________ criticisms of this policy. (consider)
C   Choose the correct listing word from below to complete these short organising
     statements.  Sometimes, there are two possible answers.

first/ly       after
before      at first       next       then       last/ly       finally       at last
in terms of      with reference to      namely      those of      from      through to     that of
1. __________ , this essay will examine the causes of the crisis. __________ it will turn to the consequences and __________ it will suggest  possible solutions.

2. By focusing on education, I will deal with the two main issues, __________ facilities and teaching.

3. __________ defining terms, I will continue by describing the historical background.
4. My report will approach this problem as follows; by __________ giving a brief overview of research on the subject, __________ by concentrating on the theories of Rossi, and __________ by detailing the Montana case of 1997. 

5. Hence only one theory will be discussed, __________ neo colonialism.
6. Hence only two theories will be discussed, __________ neo colonialism and Marxism.
7. This essay will look at the welfare state  __________ its cost to the taxpayer.

8. It is useful to detail the historical background, __________ the union movement in the 19th century __________ the establishment of the Labour Party in 1900.
9. This report will __________ give a summary of the main statistical evidence, __________ moving onto an analysis of the main issue -  __________ poor financial regulation.
10. There are many reasons for the decline, ranging  __________ religious problems in the north  __________ environmental disasters in the south.
D  Find the listing language mistakes and correct them.  Sometimes, there are 
    two possible answers.
1. I will examine this question in terms of there have been changes in the law.
2. There is one major disadvantage, in terms of poverty.

3. We will look at NATO namely its role in Libya.

4. We will also show the successes, with reference to higher wages and shorter hours.
5. We will also look at the most significant decade, those of the 1960s.

6. This case study is useful in terms of it shows how people voted.
E  Use ‘-ing’ verbs to make one sentence out of the following.  You may need to
    add a word like ‘before’ or ‘after’. Sometimes, there are two possible answers.

e.g. This essay will first look at the Euro in terms of its impact on individuals.  Then it will examine its impact on governments.

Looking first at the Euro in terms of its impact on individuals, this essay will then 
examine its impact on governments.

After looking at the Euro in terms of its impact on individuals, this essay will 
then examine its impact on governments.

This essay will look at the Euro in terms of its impact on individuals before 
examining its impact on governments.
1. This essay will firstly look at the types of employment women take.  Then it will analyse their status within this employment and finish with a comparison to Swedish working practices.
2. I will look at some of this debate and start with Maslow’s original theory of needs.  Then I will continue with an analysis of modern ideas on work design.  I will end with two case studies.
3. First I will define certain key terms.  Then I will describe my methodology.  Then I will examine the latest research and make three recommendations.
F   Change these organising statements so they are parallel.  Sometimes, there
     are two or more possible answers.

1. My report will make this judgment by first examining the arguments for regulation and it will then analyse the possible disadvantages of a ban.
2. I will divide this report as follows, first giving the political reasons.  Then I will look at the economic issues and finishing with a social perspective.

3. This paper has three sections, first looking at employment policies, then discussing the impact of inflation and finally I will end with criticisms of the banking system.
4. To start, it is useful to cover the historical background then looking at the situation in the emerging BRIC economies.
5. Customer service will be discussed first.  Then I will examine staffing policies.
6. After demonstrating the weaknesses in this theory, this report will detail the damage it caused and a solution will be suggested.
Answers
A   

1. a) will define 

2. b) will examine 

3. a) will turn to 

4. b) will do 

5. b) will be analysing 

6. b) will be looking at 

7. b) will be looked at 

8. a) will be answered 

9. b) will be answering 

10. a) will detail 

11. a) will be detailed 

12. a) will be investigated 

13. b) will discuss 

14. b) will be used 

B   
1. will suggest/will be suggesting 
2. will continue (‘will be continuing’ sounds clumsy as already ‘-ing’ verbs in sentence i.e. ‘analysing’/‘suggesting’)
3. will detail/will be detailing  

4. will be looked at 
5. will be examined 
6. will examine/will be examining 
7. will discuss/will be discussing 
8. will be discussed
9. will be considered
10. will consider/will be considering
C   

1. first/ly  
then/next  
last/ly/finally  
2. namely/those of 

3. after 
4. first/ly  
then/next   
last/ly/finally  
5. namely/that of 
6. namely/those of 
7. in terms of/with reference to 
8. from   
through to (could also use;  namely/that of   and)
9. first/ly  
before 
namely/that of 
10. from   
through to 
Answers contd.
D  

1. I will examine this question in terms of changes in the law.

2. There is one major disadvantage, namely/that of poverty.

3. We will look at NATO in terms of/with reference to its role in Libya.

4. We will also show the successes, namely/those of higher wages and shorter hours.
5. We will also look at the most significant decade, namely/that of the 1960s.

6. This case study is useful in terms of showing how people voted/how people voted.
E  
1. This essay will firstly look at the types of employment women take, before analysing their status within this employment and finishing with a comparison to Swedish working practices. / After looking at the types of employment women take, this essay will then analyse their status within this employment and finish with a comparison to Swedish working practices. 
2. I will look at some of this debate, starting with Maslow’s original theory of needs, continuing with an analysis of modern ideas on work design before ending with two case studies. / I will look at some of this debate and start with Maslow’s original theory of needs, before continuing with an analysis of modern ideas on work design, and ending with two case studies.
3. After defining certain key terms, I will then describe my methodology, before examining the latest research and making three recommendations. 
F   

1. My report will make this judgment by first examining the arguments for regulation, then by analysing the possible disadvantages of a ban. / My report will make this judgment.  First it will examine the arguments for regulation.  Then it will analyse the possible disadvantages of a ban.
2. I will divide this report as follows, first giving the political reasons, then looking at the economic issues and finishing with a social perspective. / I will divide this report as follows.  First I will give the political reasons.  Then I will look at the economic issues and (will) finish with a social perspective.
3. This paper has three sections, first looking at employment policies, then discussing the impact of inflation and then finally ending with criticisms of the banking system. / This paper has three sections.  I will first look at employment policies.  Then I will discuss the impact of inflation and finally I will end with criticisms of the banking system. / This paper has three sections.  It will first look at employment policies.  Then it will discuss the impact of inflation and finally it will end with criticisms of the banking system.
4. To start, it is useful to cover the historical background, then look at the situation in the emerging BRIC economies. 
5. Customer service will be discussed first.  Then staffing policies will be examined. / I will discuss customer service first.  Then I will examine staffing policies.
6. After demonstrating the weaknesses in this theory, this report will detail the damage it caused and (will) suggest a solution. / After demonstrating the weaknesses in this theory, the damage it caused will be detailed and a solution (will be) suggested.
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